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What do we mean by electoral law?

The authorized mechanisms for democratically determining who will govern

Four thresholds

•Legitimation
•Incorporation

•Representation

•Majority Power
Why important?

- shape the ways votes become seats

-influence the way votes are cast

Basic institutional choices

1. Plurality systems

The plurality voting system is a system used to elect members of a parliament which is based on single member constituencies.

The most common system, used in the UK and USA is first past the post, a voting system in which a single winner is chosen in a given constituency by having the most votes, regardless of whether or not he or she has a majority of votes.

In some countries such as France a similar system is used, but there are two rounds: the "two-round" or "two-ballot" plurality system. The two highest-voted candidates of the first round compete in a two-candidate second round.

It is praised for producing stable majorities in parliament, but is criticised for representing only the largest parties and under-representing more minority opinions. It is considered best in countries where the ostensibly fairer proportionally representative system would produce a fragmented parliament, but which are not so unstable that an under-representation of minorities and opinion fragmentation will cause violence or disorder.

Plurality voting is used in 43 of the 191 countries in the United Nations for either local or national elections. Plurality voting is particularly prevalent in the United Kingdom and former British colonies, including the United States and Canada. [

In single winner plurality voting, each voter is allowed to vote for only one candidate, and the winner of the election is whichever candidate represents a plurality of voters, that is, whoever received the largest number of votes. This makes the plurality voting system among the simplest of all voting systems.

In an election for a legislative body, each voter in a given geographically-defined electoral district votes for one candidate from a list of candidates competing to represent that district. Under the plurality system, the winner of the election acts as representative of the entire electoral district, and serves with representatives of other electoral districts.

In an election for a single seat, such as president in a presidential system, the same style of ballot is used and the candidate who receives the largest number of votes represents the entire population.

Ballot types

Generally, plurality ballots can be categorised into two forms. The simplest form is a blank ballot where the name of a candidate is written in by hand. A more structured ballot will list all the candidates and allow a mark to be made by a single candidate, however a structured ballot can also include space for a write-in candidate as well.

Pluses:

SMDP (FPTP) is simple to administer

Candidate focused

Line of complaint (constituent service)

Minuses:

Advantages concentrated (regional) minorities over diffused minorities

The drawing of constituency lines becomes critical (and ripe for abuse)

Expectations of who will be the top two candidates become important (often handed to pollsters and the media)

Promotes voting against rather than voting for

Wasted votes – in the UK 2005 General Election 70% of votes were “wasted” ie. Irrelevant – 52% cast for constituency losers and 18% excess for winners 

2. Majority systems

Like SMDP but require over 50% votes

Often leads to a second round (run-off)

Used in France V

SMDM alls for more politically-relevant parties over time. On the first ballot there is no incentive for smaller parties to merge or form pre-election coalitions but in the second round alliance tradeoffs. Less defractionalizing than SMDP

3. Proportional systems

Proportional representation (sometimes referred to as full representation, or PR), is an electoral system delivering a close match between the percentage of votes that groups of candidates (grouped by a certain measure) obtain in elections and the percentage of seats they receive (usually in legislative assemblies).

A proportional representation system was devised in the late 19th century, by Victor D'Hondt of Belgium. After some Swiss cantons (beginning with Ticino in 1890), Belgium was the first country to adopt list-PR for the 1900 elections to its national parliament. Similar systems were implemented in many European countries during or after World War I. 

Proportional representation is a much more common system of voting than the plurality voting system. All of the members of the European Parliament, or MEPs, including those elected from constituencies in Britain, are elected by proportional representation. Proportional representation is also used in many European countries.

Parties become the focus

Party Lists

•Voters cast ballots for parties rather than individual candidates.
–Open list – you vote for a person’s name but really you are voting twice (1) indicating your support for that party to get a seat (2) urging that party to place the candidate high on its list

–Closed list – some method internal to the party (perhaps a primary) determines list order. A vote is a vote for the party.

•MPs owe their seats to placement on a party list (PM candidate is #1). It is the Party’s seat (see the case of Donna Awatere Huata from NZ)

In late 2002, the Dominion Post newspaper reported evidence that Awatere Huata had appropriated public money for her own use. The money in question belonged to the Pipi Foundation, a children's reading program. Some of this money was alleged to have been spent by Ms Huata on a secret gastric bypass operation which resulted in a dramatic weight loss much commented on in women's magazines. 

Awatere Huata strongly denied the accusations, but further investigation (much of it conducted by the Dominion Post) provided sufficient grounds for an official enquiry by the Serious Fraud Office. On 11 February, the Assoc. of Consumers and Taxpayers party expelled her from caucus, although not from the party itself.

When she reapplied for membership, however, ACT indicated that it would not accept her. ACT then informed the Speaker of the House of Representatives that Awatere Huata should no longer be considered a member of ACT. The Speaker concurred, and declared Awatere Huata an independent.

ACT shortly afterwards attempted to invoke the Electoral Integrity Act, which was designed to limit the ability of MPs to change parties. Under this law, MPs who change their allegiance in a way that "distorts the proportionality" of Parliament must vacate their seat. ACT contended that because Awatere Huata is no longer a member of the party, the party had less strength in parliament than its last election result awarded it, thereby undermining proportional representation. Awatere Huata, however, claimed that even if she was not a member of ACT, she still voted according to ACT policies, ensuring that the public still got the policies that they voted for. In a long battle, Awatere Huata sought a court injunction against the Electoral Integrity Act being invoked. The High Court initially refused an injunction, but was overruled by the Court of Appeal. Finally, on 18 November, the Supreme Court unanimously upheld the original decision, allowing the law to be invoked. The following day, the Speaker declared Awatere-Huata's seat to be vacant. She was replaced in Parliament by Kenneth Wang, the next person on ACT's party list.

4. Hybrids

German Dual Ballot: Germany elects on federal level a legislature. The Federal Diet (Bundestag) nominally has 598 members, elected for a four year term, 299 members elected in single-seat constituencies according to first-past-the-post, while a further 299 members are allocated from statewide party lists to achieve a proportional distribution in the legislature, conducted according to a system of proportional representation called the additional member system i.e. determined by the second vote (with 5% threshold). Voters vote once for a constituency representative, and a second time for a party, and the lists are used to make the party balances match the distribution of second votes. In the current parliament there are 16 overhang seats, giving a total of 614. This is caused by larger parties winning additional single-member districts above the totals determined by their proportional party vote.

Erststimme – single meber plurality from small dristrict

Zweitstimme – multimember PR with big districts (5% threshold)

Translation of electoral law to party system

Duverger’s Law

“(1) a majority vote on one ballot is conducive to a two-party system; (2) proportional representation is conducive to a multiparty system; (3) a majority vote on two ballots is conducive to a multiparty system, inclined toward forming coalitions.”
SMDP

•First past the post, winner take all
•US, UK, former British colonies

•Under-represents political minorities

•Fairly stable

•Two effective parties

SMDM

•Must win a majority to win the seat
•Often requires a second round (“run off”)

•“Two plus” effective parties

•King maker

PR

•% seats based upon % of popular vote
•Small parties (above threshold) may be seated

•Governments often depend upon coalitions (which may not be stable)

•King maker with recurring threat of withdrawal 

•Many effective parties 

How fragmented is PR?

•Electoral law (counting votes)
•Threshold  minimum vote % 

•District magnitude  - how many seats are allocated per district (big number more representative)

Party Systems

•One party
•Dominant party

•Two party

•Multi party

Stability and the Vote of Confidence

•Government must maintain support of parliament throughout entire term or step down
•UK Parliamentary Rule 17 – loss on a major bill (e.g., budget) with whips active (I.e., not a “vote of conscience”) forces new elections. A motion of no confidence may be called if the government does not resign. Canada, Australia and NZ also do this.

•Italy, France IV, France V – if cabinet lacks support, form new new government. No automatic new elections

•Germany, Spain – “Constructive Motion of No Confidence”: a motion which ousts a government must install a new one with an absolute majority

How to stabilize?

•Less parties in coalitions
•Have parties “own” the seats (as in Germany and NZ, not Israel)

•Investiture of PM only (other cabinet members irrelevant)

•Dissolution of parliament when government falls (as in UK, not Italy)

Counting the Votes

Borda Count

The Borda count is a single winner election method in which voters rank candidates in order of preference. The Borda count determines the winner of an election by giving each candidate a certain number of points corresponding to the position in which he or she is ranked by each voter. Once all votes have been counted the candidate with the most points is the winner. Because it sometimes elects broadly acceptable candidates, rather than those preferred by the majority, the Borda count is often described as a consensus-based electoral system, rather than a majoritarian one. Under the Borda count the voter ranks the list of candidates in order of preference. So, for example, the voter gives a '1' to their first preference, a '2' to their second preference, and so on.

The number of points given to candidates for each ranking is determined by the number of candidates standing in the election. Thus, under the simplest form of the Borda count, if there are six candidates in an election then a candidate will receive six points each time they are ranked first, five for being ranked second, and so on, with a candidate receiving 1 point for being ranked last. In other words, where there are n candidates a candidate will receive n points for a first preference, n-1 points for a second preference, n-2 for a third, and so on.

	Ranking
	Candidate
	Formula
	Points

	1st
	Andrew
	(n)
	5

	2nd
	Brian
	(n-1)
	4

	3rd
	Catherine
	(n-2)
	3

	4th
	David
	(n-3)
	2

	5th
	Ellen
	(n-4)
	1


An example with a non-plurality winner

Imagine an election in which 100 voters express the following preferences:

	Ranking
	51 voters
	5 voters
	23 voters
	21 voters

	1st
	Andrew
	Catherine
	Brian
	David

	2nd
	Catherine
	Brian
	Catherine
	Catherine

	3rd
	Brian
	David
	David
	Brian

	4th
	David
	Andrew
	Andrew
	Andrew


The Borda scores of the candidates are:

    * Andrew: 153 

    * Catherine: 205

    * Brian: 151

    * David: 91

An example from baseball MVP: http://ola4.aacc.edu/kehays/umbc/MVP/Modified_BC.html
STV

The Single Transferable Vote, or STV, is a preferential voting system designed to minimise wasted votes and provide proportional representation while ensuring that votes are explicitly for candidates rather than party lists. STV achieves this by using multi-seat constituencies (districts) and by transferring votes that would otherwise be wasted. STV initially allocates an individual's vote to their most preferred candidate, and then subsequently transfers unneeded or unused votes after candidates are either elected or eliminated, according to the voter's stated preferences.

In STV the voter ranks the list of candidates in order of preference. In other words (under the most common ballot design), they place a '1' beside their most preferred candidate, a '2' beside their second most preferred, and so on. The ballot paper submitted by the voter therefore contains an ordinal list of candidates. In the ballot paper shown in the image on the right, the preferences of the voter are as follows:

   1. John Citizen

   2. Mary Hill

   3. Jane Doe

A number of different quotas can be used in STV elections, but the most common is the Droop quota. This is given by the formula:

(votes / (seats + 1 ) ) +1

    * Votes = the total number of valid (unspoilt) votes cast

    * Seats = the number of seats to be filled

Finding the winners

Put simply, in an STV election a candidate requires a certain minimum number of votes – the quota (or threshold) – to be elected. However any candidate with either more than enough, or too few, votes to be elected has votes transferred to other candidates, and the process continues until all positions have been filled. The candidates to whom votes are transferred are determined by the preferences given by voters on the ballot paper.

To count the votes in an STV election, ballot papers are tallied and distibuted to candidates according to the voters' first preferences. Any candidate who has reached or exceeded the required quota is declared elected. If an insufficent number of candidates have been elected, the count continues. If a candidate has votes above the quota, then their surplus value is transferred to other candidates according to the voters' allocated preferences. If enough candidates have not reached the quota, then the candidates with the fewest votes are eliminated one by one and their votes are transferred accordingly. Candidates who obtain the required quota are declared elected and any surplus is distributed to the remaining candidates. This process continues until the required number of candidates have been declared elected. Candidates who are eliminated are removed from the remainder of the count and no further votes may be transferred to them. Whether votes are transferred to elected candidates depends on the particular counting system chosen; systems that allow this subsequently redistribute the surplus, again.

An STV election proceeds according to the following steps:

    * Step I: Any candidate with at least the quota of votes is declared elected.

    * Step II: If any candidate has received more than the quota of votes then the excess or 'surplus' of votes is transferred to other candidates remaining in the count. Any candidate who obtains the quota is declared elected and the count returns to Step I. Otherwise it proceeds to Step III.

    * Step III: The candidate with the fewest votes is eliminated or 'excluded' and his or her votes are transferred to other candidates remaining in the count. The process is then repeated from Step I until all seats have been filled.

Most STV elections today are assisted by the use of computer technology where voters' preferences are transcribed and entered into a database which is used to count and determine the results of the election.

Example:

	
	4 voters
	2
	8
	4
	1
	1

	1st preferences
	Andrew
	Brian
	Catherine
	Catherine
	David
	Ellen

	2nd preference
	Brian
	Andrew
	David
	Ellen
	Ellen
	


(20 / (3+1))+1 = 6 (  20 voters; 3 winners to be found with a quota of 6

Round 1 – Catherine received more than six (the quota) votes so is a winner.

Round 2 – Catherine’s excess votes proportionately distributed to the other candidates according to her second-choice preferences. But even with this no one reaches the quota. The big loser Brian is dropped. 

Round 3 - His votes transfer to their second preference, Andrew. Andrew meets the quota but barely so no transfer. Andrew wins a seat

Round 4 – no one meets the quota  so the loser Ellen is dropped. David wins a seat.

SNTV

In any particular legislative constituency election, each voter casts one vote for one candidate in a multi-candidate race for multiple legislative seats. Those candidates receiving the most votes win office. Thus, in a four seat constituency, the four candidates receiving the largest numbers of votes individually would win office.

SNTV may result in roughly proportional representation only when political parties have accurate information about their relative levels of electoral support and nominate candidates in accordance with their respective level of electoral support. If there are n candidates to be elected, Candidate A can guarantee being elected by receiving one more than 1/(n+1) of the votes (the Droop quota), because n other candidates cannot all receive more than Candidate A. However, it can become very difficult for parties to receive representation proportional to their strength, because they are forced to judge their strength prior to deciding how many candidates to field (strategic nomination). If they field too many, their supporters votes might be split across too many candidates, evenly diluting their share to the point where they all lose to a slightly less diluted opposing party. Conversely, if the party fields too few candidates, then they might not win seats proportional to their hypothetical true level of support and excess votes would be wasted on their winning candidates.

The relative risks of strategic nomination are typically not the same for parties in different positions of electoral success. A large party with a majority of seats, for example, would have much more to lose from the split vote effect than they would have to gain from avoiding the wasted vote effect, and so would likely decide to err on the side of fielding fewer candidates. Conversely, a small party with little representation would be more risk-tolerant and err on the side of too many candidates, potentially gaining seats greater than their proportion of the electorate by winning with narrower margins of victory than the candidates from larger parties.

SNTV electoral systems typically produce more proportional electoral outcomes as the size of the electoral districts (number of seats in each constituency) increases.

The potential for tactical voting is large. Receiving only one vote, the rational voter must only vote for a candidate that has a chance of winning, but will not win by too great a margin. This also creates a gigantic opportunity for tactical nominations, with parties nominating candidates similar to their opponents' candidates in order to split the vote.

SNTV also results in complicated intra-party dynamics because in a SNTV system, a candidate must not only run against candidates from the other party, he or she must also run against candidates from their own party.

Because running on issues may lead to a situation in which a candidate becomes too popular and therefore steals votes away from other allied candidates, it has been argued that SNTV encourages legislators to join factions which consist of patron-client relationships in which a powerful legislator can apportion votes to his or her supporters. It has been argued that many of the characteristics of the Kuomintang in Taiwan and the Liberal Democratic Party of Japan arise because of this.

In Puerto Rico, where SNTV is known as at-large representation ("representación por acumulación" in Spanish), political parties vary the ballot order of their candidates across electoral divisions, in order to ensure each candidate has a roughly equal chance of being elected. Since most voters choose the candidates placed at the top of their party lists on the ballots they receive, at-large candidates from the same party usually obtain approximately equal vote totals.

Instant Run off

single winner elections in which voters rank candidates in order of preference. In an IRV election, if no candidate receives an overall majority of first preferences the candidates with fewest votes are eliminated one by one, and their votes transferred according to their second and third preferences (and so on), until one candidate achieves a majority. The term 'instant-runoff voting' is used because this process resembles a series of run-off elections

In an IRV election ballots are initially sorted according to their expressed first-preferences. If no candidate achieves an overall majority of first preferences (more than half of the total vote) the candidate with the fewest first preferences is eliminated. That candidate's votes are recounted and are distributed to the remaining candidates according to the second preferences expressed on each ballot paper. If there is still no candidate with an overall majority of votes then the candidate with the fewest votes is again eliminated and the votes transferred in the same way, according to the second or third preferences expressed on each ballot paper. This process of counting and eliminating continues until a candidate has obtained a majority of 'continuing ballots' -- meaning those ballots expressing preferences among candidates who have not been eliminated.

Imagine an election in which there are three candidates: Andrew, Brian and Catherine. There are 100 voters and they vote as follows (for clarity, third preferences are omitted):

	#
	39 voters
	
	12 voters
	7 voters
	
	42 voters

	1st
	Andrew
	
	Brian
	Brian
	
	Catherine

	2nd
	Brian
	
	Andrew
	Catherine
	
	Brian


First the first preferences are counted, and the tallies stand at:

· Andrew: 39

· Brian: 19

· Catherine: 42

No candidate has an overall majority of votes (in this case 51), so Brian, who has the fewest votes, is eliminated. His votes must now be transferred to the two remaining candidates. To do this the ballot papers of the 19 Brian supporters are examined to see which candidate’s voters have given as their second preferences. Each Brian supporter then has their vote transferred to their second preference: 12 votes are transferred to Andrew and 7 to Catherine. The tallies then become:

· Andrew: 51

· Catherine: 49

Andrew now has an overall majority, so is declared the winner.

D’hondt

favors large parties and coalitions over scattered small parties

After all the votes have been tallied, successive quotients or 'averages' are calculated for each list. The formula for the quotient is [image: image1.png]


where:

    * V is the total number of votes that list received; and

    * s is the number of seats that party has been allocated so far (initially 0 for all parties in a list only ballot, but includes the number of seats already won where combined with a separate ballot, as happens in Wales and Scotland).

Whichever list has the highest quotient or average gets the next seat allocated, and their quotient is recalculated given their new seat total. The process is repeated until all seats have been allocated.

The rationale behind this procedure is to allocate seats in proportion to the number of votes a list received, by maintaining the ratio of votes received to seats allocated as close as possible. This makes it possible for parties having relatively few votes to be represented.

US uses this for apportionment of congressional seats
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Party A
340,000
340,000
170,000
170,000
113333
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65,000
3

Party B
260,000
260,000
260,000
140,000
140,000
140,000
93333
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3

Party C
160,000
160,000
160,000
160,000
160,000
60,000
60,000
60,000

Party D
60,000
60,000
60,000
60,000
60,000
60,000
60,000
60,000

Party E
15000
16000
15000
15000
15000
15000
15000
16000




Sainte-Laguë

The Sainte-Laguë method is a divisor method, like the d'Hondt method, but with a different divisor. After all the votes have been tallied, successive quotients are calculated for each list. The formula for the quotient is [image: image3.png]


, where V is the total number of votes that list received, and s is the number of seats that party has been allocated so far, initially 0 for all parties. (The d'Hondt method uses as the formula [image: image4.png]


). Whichever list has the highest quotient gets the next seat allocated, and their quotient is recalculated given their new seat total. The process is repeated until all seats have been allocated.
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